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248 -100 =

6 x 100 = Challange

483 + 70
578 - 43
300 x 8 =
3 - 7 =

o Raj makes this shape with two different quadrilateral pieces of paper.

-— ?
8 -+ :L - What shapes could they have been:
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2 lots of 10 and 2 lots of 1 is the same as 2 lots of __
What othver Himestaple con yow see?  What s e pattern?

L SULSILSELSUL SIS UL ST S GURE o
PPLPLYIDLIPDLY D

COOOOOLOLOOO ©

3 lotsof 10 add 3 lotsof 1 =__ x 11



10 w4 = 40
1 wd4=4

s His Hhe same as Hre cookie
ool sweets?

Wiy?

o=t
40 + 4 = 44



% Iy there a pattern?

2xll=22 3xI1l=33 4 x|l =44

;

What con we see from




In division do- we follow the same rule;

Sosg s n g Howmany flowers arethere?
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In division do we follow the same rule:

e e e e e e de e e e Howr mang flowers are there?

S e HE A I A e € e 3¢
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WOW! Lety turn Hais now info- a word guestiow,

7 w1l =77

Question

| hove 7 friends and | gwe them 11
sweety eachh. How many sweets hane |
guen owoy ol togetirer?

Why hoae | asked "How many sweets horve | given anway
ol togetiver?" Whot i Ut asking me to- do?



Rosie uses a bar model to represent 88

VOB BORRRRD @ divided by 1

2X10= 2)(1: nininmnininniningninin
2 lots of 10 doughnuts = ___ 2 lots of 1doughnut = __ Explain Rosie’s mistake.
2 lots of 11 doughnuts = ____
2X10+2X1=2XNMN=___ Can you draw a bar model to represent

88 divided by 11 correctly?




Arswers

- Rosie uses a bar model to represent 88

VYV VVBOV® @ eel by T

IV AXIDW 88
2><10=20 2><1=2 nlnlnnfnlnlnnfn]n
2 lots of 10 doughnuts _20 2 lots of 1 doughnut _2 I Explain Rosie’s mistake.
2 lots of 11 doughnuts = 22
2X10+2xX1=2XN= ___22 Can you draw a bar model to represent

88 divided by 11 correctly?

88




Do yow recall wirat we did witiv the 11 Hlmes toble?

Now-try this with 12!

S LU (T

L] (707 What " we?
putpes pottern con yow

LU (70T




L 7 10 969
L 9

= L 969
‘-l-l-l-l-L-l-L-l-l-Dﬁ I 969
S 1 965

4x 11 =44 4x 12 = 48
Is there o pottern? Wiy do- yow Hunk Hus happens?

Con yow explain how Husy would help yow?



° What times-table facts are shown here?

gk d

\
\

! 1 think I have seen some of \
these facts before in other
\ times-tables, but where?

218




1) Complete the sentences and calculation to
match the picture.

0000000000 0
0000000000 O
0000000000 < <
0000000000 < ¢

4lotsof 10 beads =
4lotsof 2beads=__
4lotsof 12 beads=__
Lx10+4x2=4x12=__

How- iy breaking Ut down shhowing yow Hre pattern?



WOW! Lety turn Hais now info- a word guestiow,

12 11 = 132

Questow,

| have 11 friends and we all hare 12
marbles. If we put all the marbles un

Wiy have | asked "If we put all tHhe marbles v e midole
how- many will we have?! What s F asking me to-do?



WOW! Lets tuwrn Husy unto- o word guestion

132==12= 11

Question | have made:

| had 132 pencils and | gove Hhem
equally owt to- 11 students. How many
pencils wouwld Hhey get eacih?

Why hawe | asked "l had 132 pencily and | gore Hhem
equally owt to- 11 stundents Wit 5 U asking me to- do?



Complete the calculations.
2X5=0) 5x12=@0" 48+-12=|# 84 +12=|7

(4 x 12 =48
12x30 =120 12x211 =132 96 -12=8 108 =-9x12 /7x12= 84
96 |+ 12=8
Spley: 60-12= [5
. 12+12= [|8
b) Work out these multiplications. Use the other times-tables 5x12= [0
to help you.
Ax12= 108

180+ 12 = S
18 9Qx12=108 6x12=192 l



